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3.2 Extrema & Function Analysis Name:___ l

Absolute max/min — absolutely the .

: +
Relative max/min — a point on the function /
thatis .
g M T
| [
Finding a max/min means finding the of 47—
the point. The x-value helps you with location of the T

point, but it is not the max/min value.

1. Find the coordinate points of the extrema of each function and classify its type.
f(x) = 0.05x° — 0.25x° — 0.25x* + 2.25%% — 5.4x> + 1

A

=
What is the minimum value of f? -0
o
w \
2. Closed Endpoint: 3. Open Endpoint:
\ \

3. Jump Discontinuity A .
\
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3.2 Extrema & Function Analysis

4. Finding a friendly window.
f(x) = —100x® — 45x2 + 10x + 5000

Function Analysis — putting it all together!
5. () = 0.5(x2 + VaF—x

WINDOW
Bmin=
BMax=
Rscl=

Ymin
W
Yscl=

Domain: Vertical Asymptotes: Holes:
(Nonremovable) (Removable)
Absolute max/min value: | Local max/min value(s) that | Increasing:

are NOT absolute:

Left End-Behavior:

Right End-Behavior:

Sketch a graph:

Skillz Revieus: Solve or evaluate.

1. V=125 2.x2+1=73 3. -9 +7)2 =144

4.5(x—2)? = —60
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3.2 Practice — Extrema & Function Analysis Name:
Pre-Calculus

Using the graph and/or the function’s equation, find all of the following. Use Interval Notation when describing
intervals. Sketch the graph if it is not given.

Domain: ‘Absolute max/min value(s): 1

Local max/min value(s) that are NOT absolute:

s 4&
Increasing: Decreasing: an|

+ Right End-behavior: o
lim f(x) = lim f(x) =
Domain: ‘Absolute max/min value(s): 2.

Local max/min value(s) that are NOT absolute:

-4 -3 - 1 2 3 4
Increasing: Decreasing: T L
Left End-behavior: Right End-behavior:
lim h(x) = lim h(x) =
Domain: ‘Absolute max/min value(s):
/
Local max/min value(s) that are NOT absolute:
Increasing: Decreasing:
-8 -6 -4 -2 2 4 6 8
=2
Right End-behavior:
lim g(x) = —4
=6
/\ -8
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Domain: Absolute max/min value(s): 4. f(x) = 0.7(5x% + 2)Vx + 2
N
Local max/min value(s) that are NOT absolute:
Decreasing:
Left End-behavior: Right End-behavior:
lim f(x) = lim f(x) =
Domain: Absolute max/min value(s): 5. 9(0) =i(VI—x)l2x -4 +1
H
¥
Local max/min value(s) that are NOT absolute:
Increasing: Decreasing:
Left End-behavior: Right End-behavior:
lim f(x) = lim f(x) =
Domain: ‘Absolute max/min value(s): =
6 f@ =15 ¥
Local max/min value(s) that are NOT absolute:
Increasing: Decreasing:
Left End-behavior: Right End-behavior:
lim f(x) = lim f(x) =
Domain: ‘Absolute max/min value(s): _
7 f@® ¥

Local max/min value(s) that are NOT absolute:

Increasing: Decreasing:
Left End-behavior: Right End-behavior:
lim £(0) = lim f(x) =





